15/03/25:
Slithersweeper by John Bulten

Theme: Cirrus Clouds

Rules: Place either 0, 1, or 2 mines into
each empty cell so that each number
represents the total count of mines in all
neighboring cells, including diagonally
adjacent cells. See also this example:
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Also, all cells other than Minesweeper
clues are Slitherlink clues. After solving the
Minesweeper, convert these cells' contents
to numbers (use corresponding cells in
additional grid), then draw a single,
non-intersecting loop in the additional grid
that only consists of horizontal and vertical
segments between the dots, where the
number inside each of these cells indicates
how many of the four edges of that cell are
part of the loop.

Answer Entry: Enter the length in cells
of each of the internal loop segments
from left to right for the marked rows,
starting at the top. Separate each
row's entry with a comma.
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